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Instructions :
@il = (i)

(i
Note : (i)
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)

Qamatatayld. iFsILeid Gampulmuiden, Hené se@TsTasiiLILreaTiiLLD
o | anqurss Qsfledfisseyw.

Boolb  Sd@g s@mUY @wlloaer b HCL  TWEMUSDGWD,
213 5CaTEQaugHED LweatuBss Ceuam(@ . LLBISET euenreusn@
Quendlé LweTLIHESHeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS -1 /PART -1

Simesg elamés@Ers@h efleLwallésea. 15x1=15

Qar@ésliul_(Berer mrenE wrPn oL saie Waab gpyemLw
AeoLmus CsipAs0s5s GHULOLE daLtmanb Csrss)
GT(LPS@LD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. gpardls Hleoaeusnd erg ?
(<) RAM (<24) ROM (®) EPROM (rr) PROM
Name the volatile memory,
(@) RAM ) ROM () EPROM (d) PROM

2. ydwer QupsefgsHdr A+A= ?

(@) 1 () A (@ A (/) 0
In Boolean Algebra A+ A= ? '
(@) 1 ® A © & (4 0

3. gpnep vwealt QuEs D@wUAHE T (hEGIGETL(D :

(<=4) MS-DOS (<) Nersen (@) weféev () eSa@rCGLmev
An example for single task operating system is :
(a) MS-DOS (b) Linux (c) Unix (d) Windows

4. as=5 QuiRGasHEG e a :=a-1 QuidushE Der a -ar wHUIL :

(<=t) 3 ()5 | (@) 2 () 4
If a=5 before the assignment a :=a—1 after the assignment, the value of a is :
@ 3 ®) 5 (€ 2 d 4

5.  wL&ADE aerant C QLM erafld SLOUUTLGH umiey earger eufiGu Quiki@n ?
(1) s1
(2) while C
(@) S2 J
(4) S3
(<21) S1; S2; S2; S3 (<) S1; S3
(@) S1;52; 52; 52; S3 (rr) S1;S2; S3
If C is false just before the loop, the control flows through :
1) s1
(2) whileC
(3) S2
(4) S3
(a) S1;S2;S2; S3 (b) S1;S3
(c) S1;52;52; S2; S3 (d) S1;S2;S3
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Gemaumaaalpmier argl sredentisaiien LamLamigd e ?

(1) long (<2},) signed (@) short (FF) int
Which of the following is not a data type modifier ?
. (@) long (b)  signed (c) short (d) int

Gareumbd WLESG THSOST (PD QuIki@GD ?
for (int a=0; a<l10; a++)
(1) 9 (=)0 (&) 1 (FF) 10
How many times the following loop will execute ?
for (int a=0; a<10; at+)

@) 9 b) 0 © 11 d 10
Hredlen Qewerssd ahg CFwDm Bl bHg) Qzr_m@Ld ?

(<21) main() (<) isalpha() (@) islower() () isdigit()

Which function begins the program execution ?

(a) main() (b) isalpha() (c) islower() (d) isdigit()

2@ sLOMm Adeilly Spsa_cimm QarH&sILL(DeTerg).

struct Time

{

int hours;

int minutes;

int seconds;

bt;

CwCa 2 drer oiMladlided seconds eramp LB rHlenus 19 616U (THEUSTEUDMIET 6TS)
@h&dpg ?

(<) seconds (<) Time.seconds  (()) tseconds (/) Time:seconds
A structure declaration is given below.

struct Time

{

int hours;

int minutes;

int seconds;

bt

Using above declaration which of the following refers to seconds ?

(@) seconds (b) Timeseconds (c) tseconds (d) Time:sseconds

[ Hpliys / Turn over
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10.

y &

12.

13.

14.

GeTeu(meuaTeUDMIET 6Tl LIWEIT euenFpid@GLd ey alens ?

() W e (<2b) Qs (@) Qumgpar (rF) Wgereu
Which of the following is a user defined data type ?
(a) int (b) class (c) object (d) float

Qeé@weiler o pliLsmeT SignGusHE s Qeupeh Lwau®Eng ?

(1) . (yerafl) (<) : (apdampuienaf)
(Q) = (uerrQueeme) () ;5 (Sienryerefl)
Which operator is used to access the class members ?

(a) . (dot) (b) : (colon)

()  : (scope resolution) (d) ; (semicolon)

ereumeuareupmer orgl QewupsapsErse GaumulL QUTmE 2 daTas
©hi&Spgl ?

(1) Qewp@d Lenii gy (=) Qewpaamy Lesisl@Liy

(@) Qewpur@® uafbigLiy () e muy ueflflgliy

Which of the following refers to a function having more than one distinct meaning ?
(@) Operator overloading (b) Function overloading

(c) Operations overloading (d) Member overloading

o dewdapampuid, yHu Qassw aHalmhg e (BaurssliLEaDg ?
(=) smedlGsLLL L. @andEw (<2b) SlglieL Glend @y

(8) Qewpsag (FF) SHeULDTESHLD
Inheritance is a process of creating new class from : ‘
(a) derived class (b) Base class

(c) Function (d) abstract

sl eCymgLons CUTEILESERESE HoLss g euamils Hirdoaser

(21) Qeeus QuenGLImmeT (<) @eveus Gummer

(@) Cwen@ummer (FF)  eumiev&e

Commercial Programs made available to the public illegally are known as
(a) free software (b) freeware

(c) software (d) warez
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15. TSCll -én aflfleundan ?
(o) Tamil Scope Code for Information Interchange
(«=4,) Tamil Script Code for Information Interchange
(@) Tamil Scope Code for International Interchange

(/) Tamil Script Code for International Interchange

Expansion for TSCIL

(@) Tamil Scope Code for Information Interchange

(b) Tamil Script Code for Information Interchange -
() Tamil Scope Code for International Interchange

(d) Tamil Script Code for International Interchange

L@&S - 1/ PART - 11

©Aly : semauCued n dlamés@ErsE eflenLwallEsay. eflerm ereir 24 -&@®
s__Lmwuwns el wefl&saib. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. ewwé Qeuassda (CPU) u@dser wremel ?
What are the components of a CPU ? :

17. Hlye) sejeri i GTEIMITE) GTETe ?

What is a program counter ?

18. Qapsy uaflé@h erenpre ererer ?

What are called standard icons ?

19. sL@Uurl® umiey FaHMIGET Wrenal ?

What are the control flow statements 1
20. setw() 6uigeUEnLOLIL] ENSWIT(@HLD Qawhander Lwen eremer ?

What is the use of setw() format manipulator ?

[ Hapuys / Turn over
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21, UOIMHEUTSEHLD GTEIDITCL GTETesT ?

What is Polymorphism ?

22. uveflll@es wrwrg Qewphlsmen Ll igwel@s.

List the operators that cannot be overloaded.

23. oSefim erampred ereve ?

What is phishing ?

24. Yeneumo Hrelen Qeuaflueni eraps)s.
#include<iostream>
#include<string.h>

int main()

{
char strl[50];

strl1="COMPUTER SCIENCE"”;
cout<<strlwr (strl);

cout<<strlen(strl);

}
Write the output of the following program.

#include<iostream>
#include<string.h>
int main()

{
char strl[50];

strl1="COMPUTER SCIENCE”;
cout<<strlwr (strl);

cout<<strlen(strl);
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L@$ - 111/ PART - 111

GOy : gsTeugl SpDl Aarss@ys@ ofeLwallésab. enr eram 33 -&@
s Lmuwns eNewailsse)b. : 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25. Qan@éstiut.@erar @mflena cTamenan cramenflena i uderrpflenes erawraris
WOTHDIS
101110101,
Convert the given Binary number into its equivalent octal and hexadecimal number.
101110101,
26. Qu&s evwlden wsHw HplbludLsener U ig el H&.
List out the key features of operating system.
27. S|(HEULDTESLD GTETTE) Greme ?
What is Abstraction ?
28. HHEPDHE erenpred eremer ?
What is Recursion ?
29. srisaion safleows upl Ap GHOY TRSIS.
Write a short note on Array of strings.
30. sfsafon uemsseT wWreme ?
What are the types of constructors ?
31. private, public, protected &mem yfiee urtigsamer CaupubEs!s.
Differentiate between private, public, protected visibility modes.
32. s @eveus soedlsRELD A GO auenrs.
Write a short note on Tamil Virtual Academy.
33. for bL&®& LWaLBSH 1 PpsD 10 aueny 2 dren creRTaaflen QBT Fal Lo

Qeuefll@B C++ Hydd er(PEIS.

Write a C++ program to sum the numbers from 1 to 10 using for loop.

[ Hrys / Tum over
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GSOILY : SiemeGgl CNaTSsEnsELb afen_wafl&&eyLb. 5x5=25

Note : Answer all the questions,

3. (&) Qemeumeuateupenp allend:Gs.
(i) ewulss F&LEAUMH
(i) woIa LLaIPHH
(i) ulers GHWE / QR GHWE LgLliLiren
S|V G
(<) ECp Qsr@ssLILLB6ter A, B opmib C wrlseafler wdlLsamer genbled(BHal.
wHAPreaTN&EE FPHSlwrs wromw eNeursEily wHmb CABHpmDeW
sLLaWESD. ALYEGHEILLUL Qetetury, B wrfssrar wSoy
A brHlambgIb, C wrilssrar iy B wrill¥amhgib, A wrhésTer
wgluy C wrhludelmbsin Qupliu@ib.

Y

Y

Y

A B C
(a) Explain the following :
(i) Inkjet Printer
(i) Multimedia Projector
(iii) Barcode / QR code Reader
OR

(b) Circulate the contents : Write the specification and construct an algorithm to cir
: culat
the contents of the variables A, B and C as shown below : The arrows indicate thaig
gets the value of A, C gets the value of B and A gets the value of C.

-

& g
A 4
Y
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(@) perQaueuden LHTL &aDi&emerT el @5.
DIV

(@) peowa; Gerdiy wLEEG erapred arena ? gGCHEID GO DiPay Gerdliy
wL&®s QuImssLTal OdHisHT_HLer eilardEs.

(@) Explain the characteristics of a microprocessor.
OR

(b) What is an entry control loop ? Explain any one of the entry controlled loop with
suitable example.

(@) @) &l®s: 1101010,+101101,
@) &Pss: 1101011,-111010,
3|6VEVG)
(<) AL ppD SMPSFD (@D 5GBS THSSISSTHL MaTéEGs.
(@ () Add: 1101010, +101101,

(i) Subtract : 1101011,-111010,
OR

(b) Explain call by value method with suitable example.

(=) C++ flreve a@aurré;@euglb@ﬁ, QusgaushEbd Waupm GCeaamigu
UigFlenegener 6r(Lpg)é.

3|00
(1,) Qumgner Cpré@ Breréssdlen Henenser wrenal ?
(a) Write the important steps one must follow for creating and executing a C++ program.
OR

(b) What are the advantages of OOPs ?
[ HwLiys / Turn over
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38. (1) Wemeuapid C++ Hlyelleyr erer Qenpaener F(mbss.

(a)

Debug the following C++ program.

Output :

Enter First String : COMPUTER

Enter Second String : SCIENCE
Concatenated String is : COMPUTERSCIENCE
Program :

~INCLUDE (iostream)
~include<string.h>
using namespace std;
class strings
{
PUBLIC;
char s[20]; _
VOID getstring(char str[ ]):

strcpy (s, str):

void operator+(strings);
)
void strings :: operator+(strings ob)

{
strcat(s:ob:s);

cout>> “\n concatenated string is:”<<s;

}

int main(]

{
string obl, ob2;
char stringl([10], string2[10];
cout>>"“\n Enter First String:”;
cin<<stringl;
obl.getstring(stringl);
cout<<“\n Enter Second String:”;
cin<<string2:
ob2.getstring(string2);
obl+ob2;
return 0;

Vi

Iivevgl [ OR
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(<) Qeraumid C++ Ayellen Geuafuiien T(1pFI5.
(b)  Write the output of the following C++ program.
#include<iostream>
using namespace std;
Struct Student
{

int age;
float height, weight;
} m;

void main ()

{
cout<<“Enter the age:”<<endl;
cin>>m.age;
cout<<“Enter the height:”<<endl;
cin>>m.height;
cout<<“Enter the weight:”<<endl;
cin>>m.weight;
cout<<“The values entered”<<endl;
cout<<m.age<<“\t”<<m.height<<“\t”<<m.weight;

-000-
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